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[Matt Key] Hi, my name is Matt Key and I’m going to talk about IBM FlashSystem and the value of low latency to your business. 
(music)
[Matt] So real quick to explain what latency is we’ll play here.  And Megan is going to be my associate.  I’m going to be the application and she will be my storage.  So, Megan, where were you born?
[Megan] Ohio.
[Matt] Okay.  Megan, what kind of car do you drive?
[Megan] A Mitsubishi.
[Matt] Okay.  And what did you have for dinner last Sunday night?
[Megan] Spaghetti. 
[Matt] So I was an application and Megan, my storage, responded back to some data at my request.  Now Megan, what did you have for dinner last Sunday night?
[Megan] Spaghetti.  
[Matt] Okay.  I didn’t change my question and she didn’t change her answer, but what did change is the time of delivery.  It went from her long term memory to her short term memory.  Right, and for computers that’s like going from spinning disks to solid state.  And with IBM FlashSystem we address storage through a low latency means to get the quickest time of response back to the application so that the business can move on faster.  Another way you can present this at the business level is a process I call the Key Burger Analogy.  We are going to come up with a scenario where the business mandates 10 burgers in 10 minutes.  So we have our business requirement and we need to architect a solution that comes out with that result.  So one way to do this is a traditional fry chef guy.  He’s great, he’s effective, he’s a proven resource, and he’s able to cook us 1 burger in 10 minutes.  Now that puts us a little bit short of our business requirements so we need to scale out a little bit.  We need to hire 9 more of these fry chef guys, and this couples with their associated cost. And all of this together is going to be what I call ten burger dollars but the output of it comes out to be 10 chefs, a burger each, 10 minutes – 10 burgers in 10 minutes so we solve the business requirement.  
Now across the street, we have a competitive solution that we see coming up which has IBM Flash as its new fry chef – Fry Chef 900.  He’s going to cook the exact same burger, made-to-order, just as the fry chef above but he’s going to do it at a low latency of 1 minute.  He’s also going to come out and he’s going to cost a little bit more.  He is going to cost 10 burger dollars as well.   So I have a solution up here of 10 fry chefs doing 10 burgers in 10 minutes for 10 burger dollars.  I have a solution down here of the Fry Chef 900 and he’s going to do 1 burger in 1 minute, aka 10 burgers in 10 minutes, costs the same amount as up here and I have two solutions that operate the same result and meet the business requirement of 10 burgers in 10 minutes.  Same burger quality, same client interaction with the register, same cost, same of management, same cost of overhead.  Everything is identical in terms of the output of the business here with one exception and that exception is visible to the client.  Now we all know that businesses mandate requirements and the boss of the business is the customer.  So as a customer, if you come here to eat you will get your burger in 10 minutes.  The second guy in line gets his burger in 10 minutes.  Third guy, fourth guy, fifth guy get their burgers at 10 minutes.  Coming to the place across the street the first guy gets his burger in 1 minute, second guy two minutes, third guy three minutes.  It’s not until the tenth guy in line that he would have the same ordering time wait or he would have the same overall dining experience as up here.  So as a result, as more and more clients see the value of not waiting for their food as much, we expect 90% of the clientele to order from the solution that is architected around low latency service.  So with that, at equal cost even, we get the happy face of business success from a low latency architecture.  Thank you.  
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